AFIY—

2024F12AKY —ERY K- FKT

S

S

0.553.1130 |#—EY 630B X—s8— kL2
0.553.2070 |#—E> 650B X—st— kLY
Sl 4% 0.553.2210 ShLYIZLUX3AY STV LE2—EY 637B
0.553.2030 |#—E> 642B RS kY
0.553.2050 |5 FAZI=LUX23aY k5P I NZ—E > 645B
0.553.5140 AV FZ2CNaV TN
N . - 0.553.5200 (4> FZF 24LNaAV FFT7 TN
SEBIAY FITY TN 0.553.5250 |4 >~ }35 25CN
0.553.5240 |4~ }5 25LN
0.551.0410 |F255v% av k5771 1:12068D
0.540.1700 |INTRA HEAD 68 F
0.540.1560 |HE 68 C
0.540.1750 |INTRA HEAD 68G
0.540.1830 |4~ F3J LUX A~y F 1:180LD
E®wAV I TN 0.540.2000 |HE 68GDN
0.540.2010 |4 > F3 68LDN ~Y F
0.534.5820 |4~ F5 %> % 1:120CH
05345250 |4 FS52Fv o LUX> x> s 20L
0.534.5500 |4~ F3 20LN>+¥> 2
0.540.2020 |4~ k5~ F 1:1 68CDN
0.549.3750 |4~ FSLUXT>¥ FAv F 1:1 3LDSY
0.549.3720 |4~ F5LUXT ¥ KAy F 1:13LD
0.549.3380 [/ F5707452F4221="—%L~Ay F 3ILR
0.549.3780 |4~ F5T¥ FAv F 53LDN
0.540.8319 |4~ } 35 LUX J#i#E~ v F 10:1 62LDN
0.549.3410 |4~ FSLUXEVAZR745%254 2~y F6ILG
0.549.3450 |4 FSLUXZL7av ba—n~vy K 61LRG
0.540.8640 |4 > b5 LUXH&E~ v F 2:1 67LH
0.549.3440 |4 FSLUXEVAZR74525 42~y F 61LC
WERAVEFTIN 0.549.3460 |4~ FSLUXZL7av ka—Ay K 61LR
0.549.3450 |4 FSLUXZL7av ba—n~vyF 61LRG
0.534.5540 |4~ F3 ICN> ¥4
0.534.5810 |4 > FiE#ES v+ >4 2.7:1 7CH
0.534.5550 |4 k3 29CN ¥ >4
0.534.5830 |4 >+ FiEES ¥~ & 7.4:1 29CH
0.549.3640 |HEAD FOR 22LA
0.549.3650 |HEAD FOR 22LB
1.000.2570 |F235F v 2 2933
0.551.0540 |F25FvZEEIAY b5 72 L14.8:12967IC
0.524.1070 |4 F3 10C /¥ FE—2Z
o e e 0.524,5500 |F25 5% 10D
Abb=knryFE=2 0.524.1120 |4> F5 10CN/> FE—X
0.524.1130 |4 > }F35 10LNAY FE—2Z
N 0.553.1490 |»7 YU 465R
n7V»7 0.553.1380 |»7U % 465LR
—— 0.573.0730 7:|:| FJA4—7LvIR 2/\:/ |~ l::—Z 2012
0.573.0740 |7A74—7LyZZX 2/ FE—Z €Y % 2012M

YR—MRTEAR 1/2




AFIY— HmES S
0.559.0350 |Y—THhi nr FE—2X 1:13556

0.524.5440 |H—Lhn Ny FE—2X 1:13554

. 0.559.0340 |H—T AL HE ~v FE— 2 1:2 3555
H—SHUNY FE—Z =

0.540.8430 (M4~ +7F BEAv F 2:167IC

0.540.8470 |Y—THIFEEAY F 6THC

0.540.8330 |Y—T HIEEAY K 4:1 67RC

2008FELARTICY — ER YR — FRT

A== FILT R — 625

A== FILI R — 625D

v
R—=R— kI R2—EY 625C

v

"

A== FILI R — 630F

F—=NITF7—2—EYV

v
F—LITT7—%2—EY 615

6

6

F—=NITTF7—2—EYV

F—LTT7—%—kE> 619

F—LITT—%—E 623

F—LTF7—%2—kE> 631

ST I 23A

7Y 23B

ST v 24B

ST I 24C

77 24Li

77 258

ST 25C

STV 20

7L 20A

79I 20B

OkF
[t
u
\
T |\7T\|\7T\|\7T\|\7T|\7T|\T|\T|T|T|T
|

TN 20C

7
BE w7 TA

BE v 1B

BoERAV ST TN BES v 2 1L

BE> ¥ 29B

R v 7 29Li

AbL—Farb+710

Abb—=bFnYFE—X ZhL—Far b5 10A

AbL—Far 7 10B

- I7—R7r—7— 2000

IF—RHy—F—
7RI 7 T7—2%—7— 2000M

KE—%— 186
T—4R— KE—4%— 187
KE—%— 188
I7—F—4%—181
I7—F—4R—
/ % I7—E—4—181A
_ HELL—7 2100
AVTF v Ri&eR

A7L—A—%—1 213

YR—MRTEAN 2/2




